
Name of the post 

Advertisement No. 
Preliminary Test held 
Question No. 
Publish Date 

BEX(CBRT)

PROVISIONAL ANSWER KEY 

Assistant Engineer (Mechanical), Class-2 (GWSSB)

26/2023-24 

18-08-2023
01-300
19-08-2023

Last Date to Send Suggestion(s)   24-08-2023
THE LINK FOR ONLINE OBJECTION SYSTEM WILL START FROM 20-08-2023; 04:00 PM ONWARDS 

Instructions / Ʌચૂના 
Candidate must ensure compliance to the instructions mentioned below, else objections 
shall not be considered: - 
(1) All the suggestion should be submitted through ONLINE OBJECTION SUBMISSION SYSTEM only.

Physical  or submission through E- Mail of suggestions will not be considered.
(2) Question wise suggestion to be submitted in the prescribed format (proforma) published on the

website / online objection submission system.
(3) All suggestions are to be submitted with reference to the Master Question Paper with provisional

answer key (Master Question Paper), published herewith on the website / online objection
submission system. Objections should be sent referring to the Question, Question No. & options of
the Master Question Paper.

(4) Suggestions regarding question nos. and options other than provisional answer key (Master
Question Paper) shall not be considered.

(5) Objections and answers suggested by the candidate should be in compliance with the responses given
by him in his answer sheet. Objections shall not be considered, in case, if responses given in the answer
sheet /response sheet and submitted suggestions are differed.

(6) Objection for each question should be made on separate sheet. Objection for more than one question
in single sheet shall not be considered.

ઉમેદવાર° નીચનેી Ʌચૂનાઓȵુ ંપાલન કરવાની તક°દાર� રાખવી, અƛયથા વાધંા-Ʌચૂન Ӕગે કર°લ રȩૂઆતો ƚયાન ેલવેાશે નહӄ 

(1) ઉમેદવાર° વાંધાં-Ʌૂચનો ફƈત ઓનલાઈન ઓƞȐƈશન સબમીશન સીƨટમ Ďારા જ સબમીટ કરવાના રહ°શે. ĮબĮ અથવા ટપાલ
અથવા ઇ- મેઇલ Ďારા આયોગની કચેર�એ મોકલવા આવેલ વાંધા-Ʌ ૂચનો ƚયાને લેવામા આવશે નહӄ Ȑની ખાસ નҭધલેવી.

(2) ઉમેદવાર° વાંધા-Ʌ ૂચનો રȩૂ કરવા વેબસાઈટ / ઓનલાઈન ઓƞȐƈશન સબમીશન સીƨટમ પર ̆િસƚધ થયેલ િનયત
નȺૂનાનો જ ઉપયોગ કરવો.

(3) ઉમેદવાર° પોતાને પર�ëામાં મળેલ ̆ĕપȶુ�ƨતકામાં છપાયેલ ̆ĕ˲માક Ⱥુજબ વાંધા-Ʌ ૂચનો રȩૂ ન કરતા તમામ
વાંધા-Ʌ ૂચનો વેબસાઈટ પર ̆િસƚધ થયેલ ̆ોિવઝનલ આƛસર ક� (માƨટર ̆ĕપ́)ના ̆ĕ ˲માંક Ⱥુજબ અને તે સંદભ½માં

રȩૂ કરવા.

(4) માƨટર ̆ĕપ́માં િન�દ�Ƨટ ̆ĕ અને િવકƣપ િસવાયના વાંધા-Ʌ ૂચનો ƚયાને લેવામાં આવશ ેનહӄ.
(5) ઉમેદવાર° ̆ĕના િવકƣપ પર વાંધો રȩૂ કર°લ છે અને િવકƣપ Įપે Ȑ જવાબ Ʌ ૂચવેલ છે એ જવાબ ઉમેદવાર° પોતાની

ઉĂરવહ�માં આપેલ હોવો જોઈએ. ઉમેદવાર° Ʌ ૂચવેલ જવાબ અને ઉĂરવહ�નો જવાબ  �ભđ હશે તો ઉમેદવાર° રȩૂ કર°લ

વાંધા-Ʌ ૂચનો ƚયાનમા લેવાશે નહӄ.

(6) એક ̆ĕ માટ° એક જ વાંધા-Ʌ ૂચન પ́ક વાપરɂું. એક જ વાંધા-Ʌ ૂચનો પ́કમાં એકથી વધાર° ̆ĕોની રȩૂઆત કર°લ હશે તો
તે Ӕગેના વાંધા-Ʌ ૂચનો ƚયાને લેવાશે નહӄ.

Website link for online objection submission system : http://gpsc.safevaults.in/login/ 

CNF
Highlight



BEW - MASTER ] 1 P.T.O.

001. ykÃkýk ËuþLkk fux÷k hkßÞku{kt íkuLkk ûkuºkV¤Lke íkw÷Lkk{kt ðMíkeLkwt ¼khý hk»xÙeÞ MkhuhkþÚke Ÿ[wt Au ?
(A) 10 (B) 11
(C) 14 (D) 12

002. fk[k ÷ku¾tz{ktÚke Ãkku÷kË yLku Y {ktÚke MkwíkhkW fkÃkz çkLkkððkLke «ð]r¥k {kðLkeLke ykŠÚkf «ð]r¥kLkk fÞk «fkh{kt ykðu
Au ?

(A) «kÚkr{f (B) ík]íkeÞf

(C) rîíkeÞf (D) [íkwÚkof

003. hu÷ðuLkk rð¼køkku yLku íkuLkk {wÏÞ fuLÿkuLkk MktçktÄ{kt Lke[uLkk{ktÚke fÞwt òuzfwt Mkk[wt LkÚke ?

       rð¼køkku      {wÏÞ fuLÿ

1.  W¥kh hu÷ –  Lkðe rËÕ÷e

2.  W¥kh-Ãkqðo hu÷ –  {k÷eøkktð

3.  Ãkqðo hu÷ –  fku÷fk¥kk

4.  Ërûký hu÷ –  [uLLkkE
(A) 2 (B) 3
(C) 4 (D) 1

004. yku÷ RÂLzÞk hurzÞkuLkwt Lkk{ fÞk ð»ko{kt çkË÷eLku ykfkþðkýe fhðk{kt ykÔÞwt ?

(A) E.Mk. 1960 (B) E.Mk. 1958

(C) E.Mk. 1959 (D) E.Mk. 1957

005. økwshkík{kt “fktfhus” yku÷kËLkk Ãkþwyku Lke[uLkk{ktÚke fÞk Lkk{u Ãký yku¤¾kÞ Au ?

(A) ðrZÞkh (B) ðkøkz

(C) ðrZÞkh yLku ðkøkz (D) WÃkhkuõík Ãkife yuf Ãký Lknª

006. økwshkík{kt fk¤e s{eLk Lke[uLkk{ktÚke fÞk rðMíkkh{kt òuðk {¤u Au ?

1.  Mkkihk»xÙLkk {uËkLkku{kt

2.  Ãkt[{nk÷Lkk rsÕ÷k{kt

3.  ¼Y[, Mkqhík yLku ð÷Mkkz rsÕ÷k{kt

4.  MkkçkhfktXk rsÕ÷kLkk Ãkqðo ¼køk{kt

(A) 1 yLku 3 (B) 1, 2 yLku 3

(C) 1, 3 yLku 4 (D) 1, 2, 3 yLku 4

007. økwshkík{kt fku÷MkkLkk ûkuºkku Lke[uLkk{ktÚke fÞk Au ?

1.  fåA          2.  ¼Y[          3.  {nuMkkýk          4.  ¼kðLkøkh

(A) 1, 2 yLku 3 (B) 1, 2, 3 yLku 4

(C) 1, 3 yLku 4 (D) 1, 2 yLku 4

008. Lke[uLkk{ktÚke fÞwt hkßÞ çkkÞkuøkuMkLkk WíÃkkËLk{kt «Úk{ MÚkkLk Ähkðu Au ?

(A) W¥kh«Ëuþ (B) økwshkík

(C) hksMÚkkLk (D) {æÞ«Ëuþ
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009. ÷Ëk¾{kt fÞk «fkhLkku QòoLkku Ã÷kLx ykðu÷ Au ?

(A) ÃkðLk Qòo (B) Mkkih Qòo

(C) ¼q-íkkÃkeÞ Qòo (D) ¼híke Qòo

010. økwshkíkLkk fÞk rðMíkkh{kt Mk{þeíkku»ý «fkhLkwt ½kMk ÚkkÞ Au ?

(A) økehLkk støk÷ku (B) ¼kðLkøkhLkku ðu¤kðËh rðMíkkh

(C) fåALkku çkLLke rðMíkkh (D) (B) yLku (C) çktLku

011. Ëe{kÃkwh nðkE {Úkf fÞk hkßÞ{kt ykðu÷wt Au ?

(A) rMkr¬{ (B) Lkkøkk÷uLz

(C) yYýk[÷ «Ëuþ (D) ykMkk{

012. ÃkxfkE Ãknkzku fÞk hkßÞ MkkÚku Mkt÷øLk LkÚke ?

(A) rºkÃkwhk (B) Lkkøkk÷uLz

(C) {rýÃkwh (D) r{Íkuh{

013. Lke[uLkk{ktÚke fÞwt rðÄkLk ¾kuxwt Au ?

1. E.Mk. 1757{kt Ã÷kMkeLkwt ÞwØ ÚkÞwt níkwt.

2. çktøkk¤Lkk Lkðkçk rMkhks-WÆki÷kyu Ã÷kMkeLkk ÞwØ{kt ¼køk ÷eÄku níkku.

3. Ã÷kMkeLkk ÞwØÚke ftÃkLkeLku çktøkk¤Lkk [kuðeMk ÃkhøkýkLke òøkeh {¤e.

4. Ã÷kMkeLkk ÞwØÚke ftÃkLkeLku çktøkk¤Lke rËðkLke Mk¥kk {¤e.

(A) 1 (B) 4

(C) 2 (D) 3

014. ¼khík Mkhfkhu økkuðkLku ÃkkuxwoøkeÍ MkhfkhLkk ytfwþÚke {wõík fhðk sLkh÷ [kiÄheLkk Lkuík]íð nuX¤ fÞk Lkk{Lkwt ÷~fhe
yr¼ÞkLk þY fhu÷ níkwt ?

(A) ykuÃkhuþLk þkiÞko (B) ykuÃkhuþLk þÂõík

(C) ykuÃkhuþLk rðsÞ (D) ykuÃkhuþLk ykÍkË

015. rçkúrxþ MkhfkhLkk Ë{LkLkku íku{s Lke[uLkk{ktÚke fÞk LkuíkkLke ÄhÃkfzLkku rðhkuÄ fhðk 13 yur«÷ 1919 Lkk hkus y{]íkMkhLkk
sr÷Þkt ðk÷k çkkøk{kt yuf støke Mk¼k ¼hkE níke ?

(A) ÷k÷k ÷sÃkíkhkÞ (B) zkì. MkíÞÃkk÷

(C) zkì. rf[÷w (D) zkì. MkíÞÃkk÷ yLku zkì. rf[÷w

016. ©e yh®ðË ½ku»ku økwshkík{kt MkþMºk ¢ktríkLke ¼qr{fk íkiÞkh fhe yLku íkuLke ÞkusLkk fÞk ÃkwMíkf{kt ðýoðe níke ?

(A) LkknðkLkku Mkkçkw çkLkkððkLke heík (B) ¼ðkLke {trËh

(C) fMkhík (D) økw÷kçkLkku rfMMkku

017. fÞk þnuh{kt hurzÞku MxuþLkÚke Mkw¼k»k[Lÿ çkkuÍu ¼khíkeÞkuLku ytøkúus þkMkLk WÚk÷kðe Lkk¾ðkLke nkf÷ fhe níke ?

(A) çkŠ÷Lk (B) htøkqLk

(C) xkurfÞku (D) ®MkøkkÃkwh
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018. Lke[uLkk rðÄkLkku rð[khýk{kt ÷ku.

1. rËÕne MkÕíkLkíkLkku ytrík{ þkMkf Eçkúkne{ ÷kune níkku.

2. Mkehe Lkøkh y÷kWÆeLk r¾÷Syu ðMkkÔÞwt níkwt.

(A) çktLku rðÄkLkku ¾kuxkt Au. (B) çktLku rðÄkLkku Mkk[kt Au.

(C) rðÄkLk 1 ¾kuxwt yLku 2 Mkk[wt Au. (D) rðÄkLk 1 Mkk[wt yLku 2 ¾kuxwt Au.

019. Lke[uLkk{ktÚke fÞk MÚk¤u ðhMkkËe ÃkkýeLkk «çktÄLkLke yux÷u fu huELk ðkuxh nkðuo®Mxøk rMkMx{ {¤e ykðe Au ?

(A) nzÃÃkk (B) ÷kuÚk÷

(C) fk÷eçktøkLk (D) Äku¤kðehk

020. AºkÃkrík rþðkSyu ®MknøkZ, ðu÷kuh yLku stSLkk rfÕ÷k fÞk ð»ko{kt SíÞk níkk ?

(A) E.Mk. 1677 (B) E.Mk. 1670

(C) E.Mk. 1646 (D) E.Mk. 1676

021. ¼khík{kt MkkiÚke sqLkk rMk¬kyku fÞk Au ?

(A) MkkuLkkLkk (B) [ktËeLkk

(C) [ktËe yLku íkktçkkLkk çkLku÷k Ãkt[ {kfo rMk¬kyku (D) íkktçkkLkk

022. fÞk ðuË{kt ykÞkuo yLku yLkkÞkuo MktMf]ríkLkku Mk{LðÞ òuðk {¤u Au ?

(A) yÚkðo ðuË (B) ÉøkðuË

(C) Mkk{ðuË (D) ÞswðuoË

023. {kiÞo ÞwøkeLk EríknkMkLke {krníke Lke[uLkk Ãkife þk{ktÚke {¤e hnu Au ?

(A) fkirxÕÞLkwt yÚkoþkMºk (B) {uøkuMÚkurLkMk îkhk hr[ík EÂLzfk

(C) rðþk¾k Ë¥k îkhk hr[ík Lkkxf {wÿk hkûkMk (D) WÃkhkuõík ík{k{

024. Lke[uLkk rfÞk ðtþLkk þkMkfku{kt Yÿ Ëk{Lk MkkiÚke LkkUÄÃkkºk þkMkf níkku ?

(A) þwtøkðtþ (B) þfðtþ

(C) fw»kkýðtþ (D) MkkíkðknLk ðtþ

025. fw»kký hksðeLkk Mk{ÞLke çkwØLke «rík{kyku õÞktÚke «kÃík ÚkE Au ?

(A) {Úkwhk (B) íkûkrþ÷k

(C) Ãkkxý (D) {ÿkMk

026. yMkehøkZLkku rfÕ÷ku fÞk hkßÞ{kt ykðu÷ Au ?

(A) yktÄú «Ëuþ (B) rn{k[÷ «Ëuþ

(C) {æÞ«Ëuþ (D) rçknkh

027. hkò f]»ýËuðhkÞLkk Ëhçkkh{kt ykX rðîkLkku níkk. yk rðîkLkku{ktÚke Lke[uLkk fÞk rðîkLkLku ‘yktÄú frðíkkLkk rÃkíkk{n’
íkhefu yku¤¾ðk{kt ykðíkk níkk ?

(A) LktËe rÚkB{kLkk (B) {æÞkøkhe {Õ÷kLkk

(C) hk{hkò ¼q»ký (D) yÕ÷kMkkLke ÃkuËLLkk
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028. Lke[uLkk rðÄkLkku rð[khýk{kt ÷ku.

1. Äku¤kðehk, ®MkÄw ½kxe MkÇÞíkkLkwt {kuxwt {nkLkøkh Au.

2. Äku¤kðehk ffo hu¾k Ãkh ykðu÷ Au yLku íku fåA rsÕ÷k{kt ykðu÷ Au.

3. íkuLke þkuÄ 1968{kt ÃkwhkíkíðrðË søkíkÃkrík òuþe îkhk fhðk{kt ykðu÷ níke yLku ð»ko 1990 Úke 2005 ËhBÞkLk
ÃkwhkíkíðrðË hrðLÿ®Mkn rçküLke Ëu¾hu¾ nuX¤ íku søÞkLkk ¾kuËfk{{kt yk «k[eLk þnuhLke òýfkhe {¤e níke.

(A) rðÄkLk 1, 2 Mkk[kt yLku 3 ¾kuxwt Au. (B) ºkýuÞ rðÄkLkku Mkk[kt Au.

(C) rðÄkLk 1 yLku 3 Mkk[wt yLku 2 ¾kuxwt Au. (D) rðÄkLk 2 yLku 3 Mkk[wt yLku 1 ¾kuxwt Au.

029. íkksuíkh{kt ¼khík Mkhfkhu ÞwLkuMfku ðÕzo nurhxus MkuLxh {kxu fÞk hkßÞLkk rÃkhk{ez suðk ynku{ ËVLk xufhkLku Lkkur{Lkux
fhðkLkku rLkýoÞ fhu÷ Au ?

(A) ykMkk{ (B) rMkr¬{

(C) rºkÃkwhk (D) yYýk[÷ «Ëuþ

030. fÞk hkßÞLkwt ÷kufLk]íÞ “Äku÷ [ku÷{” (Dhol Cholam) Au ?

(A) Lkkøkk÷uLz (B) rºkÃkwhk

(C) rMkr¬{ (D) {rýÃkwh

031. «rík ð»ko òLÞwykhe {rnLkk{kt “WíkhkÄo {nkuíMkð” fÞk MÚk¤u {Lkkððk{kt ykðu Au ?

(A) swLkkøkZ (B) Mkku{LkkÚk

(C) {kuZuhk MkqÞo{trËh (D) ðzLkøkh

032. MkkrníÞ yfkË{e ¼khíkLke fux÷e {kLÞíkk «kÃík ¼k»kkykuLkk MkkrníÞLku W¥kusLk ykÃkðk {kxuLke MktMÚkk Au ?

(A) 24 (B) 22
(C) 18 (D) 20

033. {kurÃkLk yLku Mkku÷wtøk íknuðkhku fÞk hkßÞ{kt {Lkkððk{kt ykðu Au ?

(A) Lkkøkk÷uLz (B) yYýk[÷ «Ëuþ

(C) rºkÃkwhk (D) ykMkk{

034. ¼khík{kt MkqVe {ík Vu÷kðLkkh {wÏÞ fux÷e ÃkhtÃkhkyku níke ?

(A) 3 (B) 2
(C) 4 (D) 5

035. siLkÄ{oLkk ÄkŠ{f MkkrníÞ “ykøk{ økútÚkku”Lkwt çkesw Mktf÷Lk fE MkËe{kt økwshkíkLkk ð÷¼e{kt ÚkÞwt níkwt ?

(A) E.Mk.Lke Mkkík{e MkËe{kt (B) E.Mk.Lke Aêe MkËe{kt

(C) E.Mk.Lke Ãkkt[{e MkËe{kt (D) WÃkhkuõík Ãkife yufÃký Lknª

036. Lke[uLkk rðÄkLkku rð[khýk{kt ÷ku.

1. ðkË¤e yLku ÷e÷k htøkLke MkkÚku fku{¤ htøkLkku WÃkÞkuøk íku{s rð»kÞkuLkwt fkÔÞkí{f rLkYÃký yu þi÷eLke rðþu»kíkk níke.

2. fýkoxf{kt Þkuòíke Lkkifk MÃkÄko ‘ðÕ÷{fk÷e’Lkk Lkk{u yku¤¾kÞ Au.

(A) çktLku rðÄkLkku Mkk[kt Au. (B) çktLku rðÄkLk ¾kuxkt Au.

(C) rðÄkLk 1 ¾kuxwt yLku 2 Mkk[wt Au. (D) rðÄkLk 1 Mkk[wt yLku 2 ¾kuxwt Au.
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037. MkkðosrLkf ûkuºk{kt rðrLkðuþLku þwt fnuðk{kt ykðu Au ?

(A) ðiïefhý (B) WËkhefhý

(C) ¾kLkøkefhý (D) ykiãkurøkfefhý

038. rhÍðo çkuLf ykuV EÂLzÞkLke çkeS yLkqMkqr[{kt Mk{kðuþ ÚkÞu÷ çkuLfkuLku þwt fnuðk{kt ykðu Au ?

(A) yLkwMkqr[ík çkuLf (B) hk»xÙeÞ çkuLf

(C) ðkrýßÞf çkuLf (D) ûkuºkeÞ økúk{eý çkuLf

039. Lke[uLkk{ktÚke fkuLkk îkhk ¼khíkeÞ rðfkMk yLku ykŠÚkf MknkÞíkk ÞkusLkk (IDEAS) ÷køkw fhðk{kt ykðu÷ Au ?

(A) rhÍðo çkuLf (B) yuõÍeMk çkuLf

(C) yu[.ze.yuV.Mke. çkuLf (D) ykE.Mke.ykE.Mke.ykE. çkuLf

040. sÚÚkkçktÄ ¼kð Mkq[fktf õÞkhu «rMkØ fhðk{kt ykðu Au ?

(A) Ëh {kMku (B) Ëh rºk{krMkf

(C) Ëh yXðkrzÞu (D) Ëh ÃktËh rËðMku

041. çku®Lføk Mkuðk ¼híke çkkuzoLke MÚkkÃkLkk fÞk ð»ko{kt ÚkE níke ?
(A) 2006 (B) 2010
(C) 2004 (D) 2003

042. ykuÃkhuþLk økúeLk (Operation Green) ™ku WÆu~Þ þwt Au ?

(A) yLkksLke ®f{íkkuLkwt rLkÞtºký (B) fXku¤Lke ®f{íkkuLkwt rLkÞtºký

(C) zwtøk¤e, çkxkxk yLku x{kxhLke ®f{íkkuLkwt rLkÞtºký (D) V¤kuLke ®f{íkkuLkwt rLkÞtºký

043. ¼khíkLke Mðíktºkíkk çkkË Ãknu÷e ykiãkurøkf LkeríkLke ½ku»kýk fÞk ð»ko{kt fhðk{kt ykðe níke ?

(A) E.Mk. 1950 (B) E.Mk. 1948

(C) E.Mk. 1951 (D) E.Mk. 1952

044. Lke[uLkk{ktÚke fÞku Wãkuøk yÚkoÔÞðMÚkkLkk {wõÞ ûkuºk{kt Mk{krðü LkÚke ?

(A) rðãwík (B) «kf]ríkf økuMk

(C) ÃkrhðnLk (D) rMk{uLx

045. Mkhfkhu fkÞËk îkhk ðÄíkk ¼kðkuLku yxfkÔÞk nkuÞ íkku íkuðku ¼kð ðÄkhku fÞk «fkhLkku Vwøkkðku Au ?

(A) Ëkçku÷ku Vwøkkðku (B) AqÃkku Vwøkkðku

(C) ÂMÚkh Vwøkkðku (D) WÃkhkuõík Ãkife yufÃký Lknª

046. ßÞkhu ðuÃkkhe çkuLfku LkkýktLke yAík yLkw¼ðu íÞkhu rhÍðo çkuLf ykuV EÂLzÞk ÃkkMku Lkkýkt WÄkh ÷u Au. rhÍðo çkuLf ykuV
EÂLzÞk ðuÃkkhe çkuLfkuLku ÷ktçkk økk¤kLkwt rÄhký su ÔÞksLkk Ëhu ykÃku íkuLku þwt fnu Au ?

(A) ¾kMk hux (B) huÃkku hux

(C) rhðMko huÃkku hux (D) çkuLf hux

047. {kLkð rðfkMk yktf (HDI) yLku {kLkð økheçke yktf (HPI) Lke økýíkhe{kt Lke[uLkk{ktÚke fE çkkçkíkkuLkku Mk{kðuþ
fhu÷ Au ?

1. ¿kkLkLkku        2. ykhkuøÞLkku        3. Mkkhk SðLk ÄkuhýLkku

(A) 1 yLku 2 (B) 1, 2 yLku 3

(C) 1 yLku 3 (D) 2 yLku 3
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048. «ÄkLk{tºke sLkÄLk ÞkusLkkLkk MktçktÄ{kt Lke[uLkk rðÄkLkku rð[khýk{kt ÷ku.

1. yk ÞkusLkkLke þYykík ykuøkü, 2014{kt fhðk{kt ykðe níke.

2. yk ÞkusLkk{kt þqLÞ rMk÷f MkkÚku ¾kíkwt ¾ku÷kðe þfkÞ Au.

3. A {kMk MkwÄe ¾kíkkLkk Mktíkku»ksLkf Mkt[k÷Lk ÃkAe ykuðhzÙk^xLke MkwrðÄk {¤ðkÃkkºk ÚkkÞ Au.

yk rðÄkLkku Ãkife fÞwt rðÄkLk / rðÄkLkku Mkk[wt / Mkk[kt Au ?
(A) 1, 2 yLku 3 (B) 1 yLku 2
(C) 1 yLku 3 (D) 2 yLku 3

049. 44{kt MktrðÄkLk MktþkuÄLk yrÄrLkÞ{, 1978 Úke yLkwåAuË 352{kt fÞk þçËLkk MÚkkLk Ãkh “MkþMºk çktzLkku” þçË hk¾ðk{kt
ykðu÷ Au ?

(A) MktrðÄkrLkf rLk»V¤íkk (B) ®nMkkí{f yktËku÷Lk

(C) fku{e nwÕ÷z (D) yktíkrhf yþktrík

050. ¼khíkLkk MktrðÄkLk{kt fux÷e {q¤¼qík VhòuLkku Mk{kðuþ fhu÷ Au ?
(A) 10 (B) 9
(C) 11 (D) 12

051. ¼khíkLkk MktrðÄkLkLkk fÞk ¼køk{kt ¼khíkLku yuf fÕÞkýfkhe hkßÞLkk YÃk{kt MÚkkrÃkík fhðkLke òuøkðkE fhðk{kt
ykðe Au ?

(A) yk{w¾ (B) hkßÞLkeríkLkk {køkoËþof rMkØktíkku

(C) {q¤¼qík Vhòu (D) ¼khíkeÞ MktrðÄkLkLke yLkwMkqr[-5

052. ¼khíkLkk MktrðÄkLkLkku ¼køk-18 fkuLku MktçktrÄík Au ?

(A) hks¼k»kk (B) [qtxýe ytøku

(C) yr¾÷ ¼khíkeÞ Mkuðkyku (D) fxkufxe ytøku òuøkðkE

053. ¼khíkLkk MktrðÄkLkLkk fÞk ¼køk{kt rºkMíkheÞ Ãkt[kÞíkehks çkLkkððkLke òuøkðkE ÚkÞu÷ Au ?

(A) 9 (B) 9-f
(C) 10 (D) 11

054. Lke[uLkk{ktÚke ¼khíkLkk MktrðÄkLk{kt MÃküYÃku fE òuøkðkE Au ?

1. çkk÷rððkn LkkçkqËe        2. «uMkLke Mðíktºkíkk        3. þku»ký rðYØLkku yrÄfkh

(A) {kºk 1 yLku 2 (B) {kºk 2

(C) {kºk 3 (D) 2 yLku 3

055. ¼khíkLkk MktrðÄkLkLkk y{÷ çkkË hk»xÙÃkrík îkhk Mkki-«Úk{ ð¾ík {wÏÞ [qtxýe yrÄfkheLke MknkÞíkk {kxu çku [qtxýe
yrÄfkheykuLke rLkÞwõíke fÞk ð»ko{kt fhe níke ?

(A) E.Mk. 1987 (B) E.Mk. 1988

(C) E.Mk. 1989 (D) E.Mk. 1990

056. ¼khíkLkk MktrðÄkLkLke Aêe yLkwMkqr[ fÞk [kh hkßÞkuLkk ykrËòrík rðMíkkhkuLkk ðneðxLku MktçktrÄík Au ?

(A) r{Íkuh{, rºkÃkwhk, Lkkøkk÷uLz, yYýk[÷«Ëuþ (B) ykMkk{, {u½k÷Þ, rºkÃkwhk, r{Íkuh{

(C) rMkr¬{, rºkÃkwhk, {rýÃkwh, Lkkøkk÷uLz (D) ykMkk{, {u½k÷Þ, {rýÃkwh, r{Íkuh{
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057. Mkkrçkík ÚkÞu÷ økuhðíkoýqtf yÚkðk yÃkkºkíkkLku fkhýu Wå[ík{ LÞkÞk÷ÞLkk fkuE LÞkÞkÄeþLku nkuÆk ÃkhÚke Ëqh fhðkLke
òuøkðkE ¼khíkLkk MktrðÄkLkLkk fÞk yLkwåAuË{kt fhðk{kt ykðe Au ?
(A) 124 (B) 125
(C) 128 (D) 130

058. ¼khíkLkk MktrðÄkLkLkk yk{w¾{kt ðýoðu÷ þçËkuLkku Mkk[ku ¢{ Ëþkoðku.

(A) Mðíktºkíkk, Mk{kLkíkk, çktÄwíkk, LÞkÞ (B) LÞkÞ, Mðíktºkíkk, Mk{kLkíkk, çktÄwíkk

(C) LÞkÞ, Mk{kLkíkk, Mðíktºkíkk, çktÄwíkk (D) LÞkÞ, Mk{kLkíkk, çktÄwíkk, Mðíktºkíkk

059. hkßÞLkeríkLkk {køkoËþof rMkØktíkku{kt Lke[uLkk{ktÚke þwt Mkk{u÷ Au, su {q¤¼qík nfku{kt LkÚke ?

(A) ÷½w{ríkykuLkk rníkkuLkwt hûký (B) Ä{o MðkíktºÞ

(C) ðkýe MðkíktºÞ (D) {Vík fkLkqLke MknkÞ

060. Lke[uLkk rðÄkLkku rð[khýk{kt ÷ku.

1. ¼khíkLkk rLkÞtºkf-{nk÷u¾k Ãkheûkf íkhefu rLk{kÞu÷e ÔÞÂõíkyu Ãkkuíku nkuÆku Mkt¼k¤u íku Ãknu÷kt ¼khíkLkk MktrðÄkLkLke
ºkeS yLkwMkqr[{kt ykÃkðk{kt ykðu÷ Lk{qLkk{kt þÃkÚk ÷uðkLkk nkuÞ Au.

2. rLkÞtºkf-{nk÷u¾k ÃkheûkfLkk Ãkøkkh yLku MkuðkLke çkeS þhíkku hk»xÙÃkrík Lk¬e fhu Au.

(A) çktLku rðÄkLkku Mkk[kt Au. (B) rðÄkLk 1 Mkk[wt yLku 2 ¾kuxwt Au.

(C) rðÄkLk 1 ¾kuxwt yLku 2 Mkk[wt Au. (D) çktLku rðÄkLkku ¾kuxkt Au.

061. Lke[u ÷¾u÷ ©uýe{kt ( ? ) r[Ln {kxu fE MktÏÞk ykðþu ?

2416, 3424, 4432, ....?....
(A) 5486 (B) 5456
(C) 5440 (D) 5415

062. íku LkkLkk{kt LkkLke MktÏÞk fu su 6, 8, 12, 24 yLku 36 ðzu ¼køkðk Ãkh Ëhuf{kt 3 þu»k ðÄu íku MktÏÞk fE nþu ?
(A) 75 (B) 76
(C) 80 (D) 84

063. íkkhe¾ 15-8-2019Lkk rËðMku fÞku ðkh níkku ?

(A) çkwÄðkh (B) þw¢ðkh

(C) økwYðkh (D) þrLkðkh

064. òu a : b = 4 : 9 yLku b : c = 15 : 4 nkuÞ íkku a : c þwt Úkþu ?
(A) 9 : 15 (B) 4 : 5
(C) 3 : 5 (D) 5 : 3

065. 40 ÔÞÂõíkykuLke Mkhuhkþ ykðf YrÃkÞk 4500/- Au íkÚkk yLÞ 35 ÔÞÂõíkykuLke Mkhuhkþ ykðf YrÃkÞk 4200/- Au. íkku Ãkqhk
Mk{qnLke Mkhuhkþ ykðf fux÷k YrÃkÞkLke Úkþu ?
(A) 4360/- (B) 4100/-
(C) 4250/- (D) 4150/-

066. yuf Ãkheûkk{kt 500 rðãkÚkeoyku yLku 400 rðãkÚkeoLkeyku níkk. su{ktÚke rðãkÚkeoykuLkk 50% yLku rðãkÚkeoLkeykuLkk 40%
Ãkheûkk{kt ÃkkMk ÚkÞk. su ÃkheûkkÚkeoyku LkkÃkkMk ÚkÞk íkuLke xfkðkhe fux÷e nþu ?
(A) 53.44% (B) 54.44%
(C) 43.44% (D) 52.44%
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067. «&™kÚko r[LnLke søÞk Ãkh fÞku yûkh ykðþu ?

B C E H ...?... Q

(A) J (B) K
(C) L (D) P

068. yuf ÔÞÂõík 80 YrÃkÞk{kt yuf ðMíkw ¾heËu Au yLku 120 YrÃkÞk ðu[ký ®f{ík hk¾u Au yLku íku{kt 40% ð¤íkh ykÃku Au,
íkku íkuLku fux÷k xfk LkVku / ¾kux ÚkkÞ ?

(A) 10% ¾kux (B) 10% LkVku

(C) 12% ¾kux (D) 12% LkVku

069. òu 8 Akufhkyku yÚkðk 16 Akufheyku 35 rËðMk{kt yuf fk{ fhe þfu íkku 12 Akufhkyku yLku 4 Akufheyku íku fk{ fux÷k
rËðMk{kt fhe þfu ?

(A) 16 rËðMk (B) 24 rËðMk

(C) 28 rËðMk (D) 20 rËðMk

070. yuf çkuøk{kt YrÃkÞk, Ãk[kMk ÃkiMkk yLku ËMk ÃkiMkkLkk rMk¬kyku Au. YrÃkÞk yLku Ãk[kMk ÃkiMkkLkk rMk¬kyku 2 : 5 Lkk økwýku¥kh{kt
Au yLku Ãk[kMk ÃkiMkk íkÚkk ËMk ÃkiMkkLkk rMk¬kyku 4 : 9 Lkk økwýku¥kh{kt Au. òu fw÷ hf{ YrÃkÞk 675 nkuÞ íkku Ãk[kMk ÃkiMkkLkk
fux÷k rMk¬kyku nþu ?

(A) 200 (B) 375
(C) 600 (D) 500

071. 40 r÷xh r{©ý{kt 20% ykÕfkunku÷ yLku çkkfeLkwt Ãkkýe Au. òu íku{kt 10 r÷xh Ãkkýe ¼u¤ððk{kt ykðu íkku Lkðk r{©ý{kt
ykÕfkunku÷Lke xfkðkhe fux÷e nþu ?

(A) 16 (B) 12
(C) 14 (D) 15

072. [¢ð]rØ ÔÞks Ãkh {qfðk{kt ykðu÷e hf{ çku ð»ko{kt çk{ýe ÚkkÞ Au. íku fux÷k ð»kkuo{kt 16 økýe Úkþu ?

(A) 6 ð»ko (B) 16 ð»ko

(C) 8 ð»ko (D) 12 ð»ko

073. ðLkMÃkrík fku»kku{kt fku»kËeðk÷ {wÏÞíðu þkLke çkLku÷e nkuÞ Au ?

(A) r÷rÃkzMkLke (B) MkuÕÞw÷kuÍLke

(C) «kuxeLMkLke (D) WÃkhkuõík Ãkife yufÃký Lknª

074. íkkÃk{kLkLkwt {kÃk fuÂÕðLk{ktÚke ytþ MkuÂÕMkÞMk{kt Vuhððk {kxu...

(A) ykÃku÷ íkkÃk{kLk{ktÚke 237 çkkË fhðk{kt ykðu Au.

(B) ykÃku÷ íkkÃk{kLk{ktÚke 237 W{uhðk ykðu Au.

(C) ykÃku÷ íkkÃk{kLk{ktÚke 273 çkkË fhðk{kt ykðu Au.

(D) ykÃku÷ íkkÃk{kLk{ktÚke 273 W{uhðk ykðu Au.

075. Lke[uLkk Ãkife fE yuf yÄkíkw Au ?

(A) çkúkur{Lk (B) MkkurzÞ{

(C) {hõÞwhe (D) ykÞLko
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076. Lke[uLkk rðÄkLkku rð[khýk{kt ÷ELku fÞwt rðÄkLk / rðÄkLkku Mkk[wt / Mkk[kt Au íkuLkku ÞkuøÞ rðfÕÃk ÃkMktË fhku.

1. fkuE çku ÃkËkÚkkuo ðå[ ÷køkíkwt økwYíðkf»koý çk¤ íku{Lkk Ë¤Lkk økwýkfkhLkk Mk{«{ký{kt íkÚkk íku{Lke ðå[uLkk ytíkhLkk
ðøkoLkk ÔÞMík «{ký{kt nkuÞ Au.

2. økwYíðkf»koý çk¤Lkwt {qÕÞ ÄúwðkuÚke rð»kðð]¥k íkhV síkkt ½xíkwt òÞ Au.

(A) {kºk 1 (B) {kºk 2

(C) çkLLku{ktÚke yufÃký Lknª (D) 1 yLku 2 çkLLku

077. yuf ykitMk çkhkçkh fux÷k økúk{ ÚkkÞ ?

(A) 25 økúk{ (B) 28 økúk{

(C) 28.35 økúk{ (D) 28.50 økúk{

078. Lke[uLkk rðÄkLkku rð[khýk{kt ÷ku.

1. Mk¾ík ÃkkýeLku Lkh{ çkLkkððk {kxu MkkurzÞ{ fkçkkuoLkux ðÃkhkÞ Au.

2. rLk»ÃktrËík Ãkkýe rðãwíkLkwt ðnLk fhíkwt LkÚke, ßÞkhu ðhMkkËe Ãkkýe rðãwíkLkwt ðnLk fhu Au.

(A) rðÄkLk 1 Mkk[wt yLku 2 ¾kuxwt Au. (B) çktLku rðÄkLkku Mkk[kt Au.

(C) çktLku rðÄkLkku ¾kuxkt Au. (D) rðÄkLk 1 ¾kuxwt yLku 2 Mkk[wt Au.

079. Lke[uLkk{ktÚke fÞwt økh{eLkwt yuf{ LkÚke ?

(A) MkuLxeøkúuz (B) fi÷kuhe

(C) çkexeÞw (D) sq÷

080. Ã÷uøk þkLkkÚke Vu÷kÞ Au ?

(A) «kuxÍkuyk (B) Aªf îkhk

(C) ðkEhMk (D) çkuõxurhÞk

081. Lke[uLkk{ktÚke fÞwt {kLkð íktºk{kt Ãkk[Lk WíMku[f LkÚke ?

(A) xkÞr÷Lk (B) rxÙÂÃMkLk

(C) økirMxÙLk (D) ÃkuÂÃMkLk

082. MkuLxh Vkuh ze.yuLk.yu., ®Vøkh r«Lxªøk yuLz zkÞøLkkuÂMxõMk MktMÚkk fÞk MÚk¤u ykðu÷e Au ?

(A) niËhkçkkË (B) ÷¾Lkki

(C) rËÕne (D) f÷f¥kk

083. Mk{úkx, «økrík, MkqÞko, ÃkqMkk [{ífkh fÞk fXku¤ ÃkkfLke {níðLke òíkku Au ?

(A) ðxkýk (B) [ýk

(C) {Mkqh (D) íkwðuh

084. “øktøkk çk[kyku yktËku÷Lk”{kt Lke[uLkk{ktÚke fkuý Mkt÷øLk níkk ?

(A) hksuLÿ®Mkn (B) zkì. ðtËLkk rþðk

(C) S.ze.yøkúðk÷ (D) [tze «MkkË ¼è
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085. MktÞwõík hk»xÙ SðrðrðÄíkk Mkt{u÷LkLkk 15{kt MkºkLkwt ykÞkusLk fÞk Ëuþ{kt ÚkÞwt níkwt ?

(A) [eLk (B) fuLkuzk

(C) MðexTÍh÷uLz (D) ¼khík

086. MktÞwõík hk»xÙLkk ¾kã yLku f]r»k MktøkXLku fÞk MÚk¤u “yktíkhhk»xÙeÞ çkkshk ð»ko-2023”Lkk WËT½kxLk Mk{khkunLkwt ykÞkusLk
fÞwO níkwt ?
(A) hku{ (B) LÞqÞkufo

(C) ÃkurhMk (D) LÞq rËÕne

087. ðirïf ®÷øk íkVkðík Mkq[fktf (Global Gender Gap Index), 2022 {kt ¼khík fux÷k{kt MÚkkLk Ãkh Au ?
(A) 140 (B) 142
(C) 135 (D) 136

088. rhÍðo çkuLf ykuV EÂLzÞk îkhk “MkuLxÙ÷ çkuLf rzrÍx÷ fhLMke” (CBDC) õÞkhu þY fhðk{kt ykðe níke ?

(A) 1 yur«÷, 2022 (B) 1 òwLk, 2022

(C) 1 MkÃxuBçkh, 2022 (D) 1 rzMkuBçkh, 2022

089. íkksuíkh{kt ¼khíkeÞ LkkiMkuLkk{kt «kusuõx-75 ytíkøkoík Lke[uLkk{ktÚke fE Mkçk{heLkLkku Mk{kðuþ fhðk{kt ykðu÷ Au ?

(A) ykE.yuLk.yuMk. ðkøkeh (B) ykE.yuLk.yuMk. ¾tzuhe

(C) ykE.yuLk.yuMk. fhts (D) ykE.yuLk.yuMk. ðu÷k

090. ðkMkuLkkh yuhuLs{uLx (Wassenaar Arrangement - WA) Lkk MktçktÄ{kt Lke[uLkk rðÄkLkku rð[khýk{kt ÷ELku fÞwt
rðÄkLk / rðÄkLkku Mkk[wt / Mkk[kt Au íkuLkku rðfÕÃk ÃkMktË fhku.
1. ðkMkuLkkh yuhuLs{uLxLke 26{e ðkŠ»kf çkuXf rðÞuLkk ¾kíku {¤u÷ níke.

2. yk çkuXf ËhBÞkLk ykÞh÷uLz îkhk ¼khíkLku íkuLke yæÞûkíkk MkkUÃkðk{kt ykðu÷ Au.

3. ¼khík ykiÃk[krhf YÃku íkuLke yæÞûkíkk íkk. 1-1-2023Úke Mkt¼k¤þu íku{ Lk¬e ÚkÞu÷.

4. ¼khík rzMkuBçkh, 2017{kt íkuLkwt MkÇÞ çkLku÷ níkwt.

(A) 1, 2 yLku 3 (B) 1, 2, 3 yLku 4

(C) 1, 3 yLku 4 (D) 2, 3 yLku 4

091. ðirïf ¾kã Mkwhûkk Mkq[fktf, 2022Lkk MktçktÄ{kt Lke[uLkk rðÄkLkku rð[khýk{kt ÷ELku Lke[uLkk{ktÚke fÞwt rðÄkLk / rðÄkLkku
¾kxwt / ¾kuxkt Au, íkuLkku rðfÕÃk ÃkMktË fhku.

1. yk ynuðk÷ rðï ykhkuøÞ MktøkXLk (WHO) îkhk ònuh fhðk{kt ykðu÷ Au.

2. ¼khíkLkwt MÚkkLk 68 Ãkh Au.

3. «Úk{ MÚkkLku rVLk÷uLz Au.

(A) {kºk 2 (B) {kºk 3

(C) {kºk 1 (D) 1 yLku 3
092. Lke[uLkk Ãkife fÞwt rðÄkLk / rðÄkLkku Mkk[wt / Mkk[kt Au ?

1. ¼khíku ð»ko 2070 MkwÄe{kt þwØ þqLÞ fkçkoLk WíMksoLk fhðkLkwt ÷ûÞ hk¾u÷ Au.

2. ¼khík rðãwík ðknLkkuLkk {n¥k{ WÃkÞkuøk MkkÚku EÚkuLkku÷ Mktr{©ýLku ð»ko 2025 MkwÄe{kt 20% ÃknkU[kzðk {kxu
«ÞíLkþe÷ Au.

(A) 1 (B) 2
(C) çkLLku{ktÚke yufÃký Lknª (D) 1 yLku 2
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093. rðï ykÚkof {t[ (WEF) îkhk ¼khík{kt [kuÚke ykiãkurøkf ¢ktrík {kxu Lkðwt fuLÿ MÚkkrÃkík fhðk {kxu Lke[uLkk{ktÚke fÞk
þnuhLke ÃkMktËøke fhðk{kt ykðu÷ Au ?

(A) {wtçkE (B) fku÷f¥kk

(C) niËhkçkkË (D) çkUø÷kuh

094. Ëw÷o¼ ¼khíkeÞ ¼k»kkykuLke ykuLk÷kELk WÃk÷çÄíkk MkwrLkrùík fhðk {kxu «kusuõx yu÷kuhk (Enabling Low Resource
Languages)Lke þYykík fkuLkk îkhk fhðk{kt ykðe Au ?

(A) {kE¢kuMkku^x (B) MktMf]rík {tºkk÷Þ, ¼khík Mkhfkh

(C) {kLkð MktþkÄLk {tºkk÷Þ, ¼khík Mkhfkh (D) ÞwrLkðŠMkxe økúkLx fr{þLk

095. “Ãkkt[{k ¾u÷ku EÂLzÞk ÞwÚk økuBMk, 2023”{kt {nkhk»xÙ hkßÞu fw÷ fux÷k [tÿfku {u¤ðu÷ Au ?
(A) 160 (B) 161
(C) 159 (D) 158

096. 15 ykuøkü, 2023 MkwÄe{kt Ëuþ{kt fux÷k y{]ík Mkhkuðh çkLkkððkLkwt ÷ûÞ rLkÄkorhík fhðk{kt ykðu÷ Au ?
(A) 30,000 (B) 75,000
(C) 60,000 (D) 50,000

097. “{kuMfku ðwþw MxkMko [uÂBÃkÞLkþeÃk, 2023”{kt ¼khíku fw÷ fu[÷k [tÿfku Síku÷ Au ?
(A) 14 (B) 18
(C) 17 (D) 20

098. “hýS xÙkuVe, 2023”Lkku r¾íkkçk fkuýu Síku÷ Au ?

(A) {æÞ«Ëuþ (B) {nkhk»xÙ

(C) Ãkrù{ çktøkk¤ (D) Mkkihk»xÙ

099. çkŠ÷Lk ¾kíku swLk-2023{kt ÞkuòÞu÷ MÃkuþeÞ÷ ykur÷ÂBÃkõMk ðÕzo Mk{h økuBMk{kt økwshkíkLkk ¾u÷kze ò÷{®Mkn Mkku÷tfeyu
fE h{ík{kt Mkwðýo [tÿf Síku÷ Au ?

(A) ðku÷e çkku÷ (B) çkkMfux çkku÷

(C) Vwx çkku÷ (D) r£-MxkE÷ Mðe®{øk

100. yktíkhhk»xÙeÞ çkwfh ÃkwhMfkh, 2022Úke fkuLku MkB{krLkík fhðk{kt ykðu÷ Au ?

(A) çkkuhk [wtøk (B) òuLk VkuMku

(C) økeíkktsr÷ ©e (D) f÷kurzÞk ÃkeLkuEhku
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101. Amount of energy required to raise the temperature of a substance of 1 kg mass by 1°C is 

called 

 (A) Specific entropy (B) Specific heat capacity 

 (C) Sensible heat (D) Latent heat 

102. If a heat engine produces work only by interacting with one source. What kind of machine is 

this? 

 (A) PMM1 (B) PMM2 

 (C) PMM3 (D) None of the above 

103. In a cyclic process, the change in internal energy of the system is 

 (A) Positive (B) Negative 

 (C) Zero (D) Cannot be determined. 

104. If temperature of the source is increased, the efficiency of Carnot engine 

 (A) Increases 

 (B) Degreases 

 (C) Remains Constant 

 (D) First increases and then becomes constant 

105. A thermodynamic process where no heat is exchanged with the surroundings is 

 (A) isothermal (B) adiabatic 

 (C) isobaric (D) isotropic 

106. An adiabatic boundary is one which 

 (A) prevents heat transfer (B) permits heat transfer 

 (C) prevents work transfer (D) permits work transfer 

107. Ice kept in a wall insulated thermo-flask is an example of which system? 

 (A) closed system (B) isolated system 

 (C) open system (D) non-flow adiabatic system 

108. Consider the following: 

 1. Temperature 

 2. Viscosity 

 3. Specific entropy 

 4. Thermal conductivity 

 Which of the above properties of a system is /are intensive? 

 (A) 1 only (B) 2 and 3 only 

 (C) 2, 3 and 4 only (D) 1, 2, 3 and 4 

109. A closed system receives 60 kJ heat but its internal energy decreases by 30 kJ. Then the work 

done by the system is 

 (A) 90 kJ (B) -30 kJ 

 (C) 30 kJ (D) -90 kJ 

110. The cyclic integral of (δQ- δw ) for a process is 

 (A) Positive (B) Negative 

 (C) Zero (D) Unpredictable 

111. The first law of thermodynamics is the law of 

 (A) Conservation of mass (B) Conservation of energy 

 (C) Conservation of momentum (D) Conservation of temperature 
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112. Given that along the path 1-2-3 a system absorbs 100 kJ as heat and does 60 kJ work while 

along the path 1-4-3 it does 20 kJ work (see figure given). The heat absorbed during the cycle 

1-4-3 is 

   

 (A) 140 kJ (B) - 80 kJ 

 (C) - 40 kJ (D) 60 kJ 

113. A composite wall of surface area 1 m2 has three layers of thickness 0.3 m, 0.2 m, and 0.1 m 

and has thermal conductivities 0.6, 0.4, and 0.1 W/m°C, respectively. There is no generation 

of thermal energy within the wall. If the inner and outer temperatures of the composite wall 

are 1840°C and 340°C, respectively, the rate of heat transfer through this wall is: 

 (A) 0.75 kW (B) 0.150 kW 

 (C) 7.5 kW (D) 1.5 kW 

114. The critical radius of insulation for asbestos with thermal conductivity, k=0.17 W/m°C 

surrounding a pipe and exposed to a room air at 25°C with heat transfer coefficient h = 4.0 

W/m2 °C will be _______. 

 (A) 4.25 cm (B) 5.8 cm 

 (C) 7 cm (D) 8.3 

115. A metallic rod 15 mm diameter at 90°C is cooled to 30°C in 105 seconds by placing in air 

stream at 25°C. The heat transfer coefficient ‘h’ for air is _______. 

 [For the rod mass of 1kg, Cp = 350 J/kg, surface area= 0.0004 m2] 

 (A) 213 W (B) 413 W 

 (C) 426 W (D) 326 W 

116. With an increase in thickness of insulation around a circular pipe, heat loss to the 

surrounding due to _______. 

 (A) Convection increases, while that due to conduction decreases 

 (B) Convection decreases, while that due to conduction increases 

 (C) Convection and conduction decreases 

 (D) Convection and conduction increases 

117. Biot number signifies the ratio of 

 (A) Convection resistance in the fluid to conductive resistance in the solid 

 (B) Conductive resistance in the solid to convective resistance in the fluid 

 (C) Inertia force to viscous force in the fluid 

 (D) Buoyancy force to viscous force in the fluid 

118. At thermal equilibrium 

 (A) Absorptivity is greater than emissivity 

 (B) Absorptivity is less than emissivity 

 (C) Absorptivity is equal to emissivity 

 (D) Sum of absorptivity and emissivity is unity 
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119. Air at 25°C flows over a thin plate with a velocity of 2.5 m/s. The plate is 2 m long and 1 m 

wide. At 25°C,  the density of the air is 1.2 kg/m3 and kinematic viscosity is 15 x 10-6 m2/s, 

Prandtl number of air = 0.69.  The thermal boundary layer at the trailing edge of the plate 

along the length is ______ 

 (A) 2.5 cm (B) 3.2 cm 

 (C) 2.1 cm (D) 1.96 cm 

120. The drag and lift forces experienced by an object placed in a fluid stream are due to 

 (A) Pressure and turbulence (B) Viscosity and turbulence 

 (C) Pressure and viscosity (D) Pressure and gravity 

121. What is the surface temperature of the outlet of the tube where local convection coefficient 

at the tube outlet is 48.7 W/m2K? 

 (A) 121.06°C (B) 101.06°C 

 (C) 81.06°C (D) 61.06°C 

122. For laminar forced convection over a flat plate, if the free stream velocity increases by a 

factor of 2, the average heat transfer coefficient_______ 

 (A) Remains same (B) Decreases by a factor of under root 2  

 (C) Rises by a factor of under root 2  (D) Rises by a factor of 4 

123. Thermal radiations are electromagnetic radiations whose wavelength vary. 

 (A) Between 0.1 to 100 μm (B) Between 0.4 to 0.76 μm 

 (C) Between 100 μm to 108 μm (D) Between 150 μm to 105 μm 

124. Two long parallel plates of same emissivity 0.5 are maintained at different temperatures and 

have radiation heat exchange between them. The radiation shield of emissivity 0.25 place in 

middle will reduce heat exchange to: 

 (A) 1/2 (B) 1/4 

 (C) 3/10 (D) 3/5 

125. What is the maximum possible effectiveness of the arrangement of heat exchanger in counter 

flow: 

 (A) 4 (B) 3 

 (C) 2 (D) 1 

126. ‘Fouling factor’ is used in heat exchanger design for: 

 (A) Compensating the directional changes in the fluid flow 

 (B) Compensating for the loss of heat exchange due to scale formations 

 (C) Compensating for the heat loss due to friction within tubes 

 (D) Compensating for the coolant contamination 

127. In a heat exchanger, it is observed that ∆T1=∆T2, where ∆T1 is the temperature difference 

between the two single phase fluid streams at one end and ∆T2 is the temperature difference 

at the other end. This heat exchanger is 

 (A) A condenserb (B) An evaporator 

 (C) A counter flow heat exchanger (D) A parallel floe heat exchanger 

128. A 2 kW electric resistance heater submerged in 5 kg water is turned on and kept on for 10 

min. During the process 300 kJ of heat is lost from the water the temperature rise of water is 

 (A) 57.4°C (B) 43.1°C 

 (C) 71.8°C (D) 180°C 
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129. In a Carnot engine, when the working substance gives heat to the sink 

 (A) the temperature of the sink increases 

 (B) the temperature of the sink remains the same 

 (C) the temperature of the source decreases 

 (D) the temperatures of both the sink and the source decrease 

130. Newton’s law of viscosity depends upon the 

 (A) stress and strain in a fluid (B) shear stress, pressure, and velocity 

 (C) shear stress and rate of strain (D) viscosity and shear stress 

131. Which of the following forces act on a fluid at rest? 

 1. Gravity force 

 2. Hydrostatic force 

 3. Surface tension 

 4. Viscous force 

 Select the correct option from the given choices. 

 (A) 1, 2, 3 and 4 (B) 1, 2 and 3 

 (C) 1, 3 and 4 (D) 1 and 2 

132. Surface tension is due to 

 (A) viscous forces 

 (B) cohesion 

 (C) adhesion 

 (D) the difference between adhesive and cohesive forces 

133. Work done in a free expansion process is 

 (A) zero (B) minimum 

 (C) maximum (D) positive 

134. With an increase in the thickness of insulation around a circular pipe, heat loss to the 

surrounding due to ____. 

 (A) Convection and conduction decreases 

 (B) Convection decreases while that due to conduction increases 

 (C) Convection increases while that due to conduction decreases. 

 (D) Convection and conduction increases. 

135. The formation of vapour and air pockets in liquid results in phenomenon called: 

 (A) Erosion (B) Cavitation 

 (C) Turbulence (D) Whirling 

136. The velocity distribution in a laminar boundary layer is: 

 (A) Parabolic (B) Cubic 

 (C) Linear (D) Random 

137. What are the dimensions of kinematic viscosity of a fluid? 

 (A) LT-2 (B) ML-1T -1 

 (C) L2T -1 (D) ML-2T -2 

138. A 150 mm diameter shaft rotates at 1500 rpm within a 200 mm long journal bearing with 

150.5 mm internal diameter. The uniform annular space between the shaft and the bearing 

is filled with oil of dynamic viscosity 0.8 poise. The shear stress on the shaft will be: 

 (A) 1.77 kN/m2 (B) 2.77 kN/m2 

 (C) 3.77 kN/m2 (D) 4.77 kN/m2 
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139. The Pelton wheel is a/an _______ impulse turbine. 

 (A) axial flow (B) mixed flow 

 (C) radial flow (D) tangential flow 

140. In the stability of floating bodies, stable equilibrium is attained if the meta centre (M) point 

the centre of gravity (G). 

 (A) lies above (B) coincides with 

 (C) is parallel to (D) lies below 

141. A vertical triangular plane area, submerged in water, with one side in the free surface, vertex 

downward and latitude ‘h’ was the pressure centre below the free surface by 

 (A) h/4 (B) h/3 

 (C) 2h/3 (D) h/2 

142. Water flows at a steady velocity through a horizontal pipe with a changeable diameter. The 

water velocity is 2 m/sec, and the pressure is 2.5 kPa at point A. The pressure drops to 1.5 

kPa at point B. What is the water velocity at point B? 

 (A) 6 m/sec (B) 6 m/sec 

 (C) 3 m/sec (D) 3 m/sec 

143. Which of the following is the cheapest plant in operation and maintenance? 

 (A) Thermal power plant (B) Nuclear power plant 

 (C) Hydropower plant (D) All of the mentioned 

144. Which of the following is also known as Coal used in power plant? 

 (A) Coke (B) Soft coal 

 (C) Charcoal (D) Steam coal 

145. The steam from steam generator of a nuclear power plant is best described as 

 (A) saturated dry steam (B) saturated wet steam 

 (C) supercritical steam (D) superheated steam 

146. The gas turbine power plant mainly uses which among the following fuels? 

 (A) Kerosene oil and diesel oil and residual oil 

 (B) Natural gas and liquid petroleum fuel 

 (C) Coal and Peat 

 (D) Gas oil 

147. What is the purpose of using open heaters in steam power plants? 

 (A) feedwater deaeration (B) feedwater carbonisation 

 (C) feedwater esterification (D) feedwater purification 

148. Compounding of steam turbine is done for 

 (A) reducing the work done (B) increasing the rotor speed 

 (C) reducing the rotor speed (D) balancing the turbine 

149. Rankine cycle efficiency of a good steam power plant is in the range of 

 (A) 15 to 20 percent (B) 35 to 45 percent 

 (C) 70 to 80 percent (D) 90 to 95 percent 

150. Economiser is used to heat 

 (A) Air (B) Feed water 

 (C) Flue gases (D) All of the above 

151. Artificial draught is produced by 

 (A) Induced fan (B) Forced fan 

 (C) Induced and forced fan (D) All of the above 
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152. What is the difference between a Rankine cycle & a Brayton cycle? 

 (A) working fluid in a Brayton cycle undergoes phase change while it doesn’t in Rankine 

cycle 

 (B) working fluid in a Brayton cycle doesn’t undergo phase change while it does in Rankine 

cycle 

 (C) both are same 

 (D) none of the mentioned 

153. Which type of compressor is used in a gas turbine plant? 

 (A) Reciprocating compressor 

 (B) Screw compressor 

 (C) Multistage axial flow compressor 

 (D) Either Reciprocating compressor & Screw compressor 

154. The surge tanks are usually provided in high or medium head _______ power plants when 

considerably _______ is required. 

 (A) Hydro-electric, short penstock (B) Hydro-electric, long penstock 

 (C) Thermal, short penstock (D) Thermal, Large steam turbine 

155. In thermal power plants, the function of economizer is to: 

 (A) Heat steam from boiler (B) Heat feed water using flue gas 

 (C) Heat air fuel mixture (D) Heat steam taken from turbine outlets 

156. Evaporative type of condenser has 

 (A) Steam in pipes surrounded by water (B) Water in pipes surrounded by steam 

 (C) Either (A) or (B) (D) None of the above 

157. The average ash content in Indian CO is about 

 (A) 5% (B) 10% 

 (C) 15% (D) 20% 

158. An I.C engine works with a compression ratio of 16. If cut-off happens at 8% of the stroke, 

then the cut-off ratio of this engine is: 

 (A) 1.2 (B) 2.2 

 (C) 4.2 (D) 3.2 

159. A 4-stroke 4-cylinder reciprocating engine has cylinder diameter of 4 cm, stroke length of 7 

cm and clearance volume 2 cm3. The engine capacity in cc is: 

 (A) 110 (B) 252 

 (C) 400 (D) 352 

160. If the cut-off ratio in the air standard dual cycle approaches unity, then this lead to which 

among the following cycles? 

 (A) Diesel cycle (B) Brayton cycle 

 (C) Rankine cycle (D) Otto cycle 

161. Combustion that takes place at high speed is called_______. 

 (A) Spontaneous burning (B) Explosion 

 (C) Incomplete burning (D) Rapid combustion 

162. An air standard cycle which consists of two isothermal and two constant volume processes: 

 (A) Lenoir cycle (B) Stirling cycle 

 (C) Diesel cycle (D) Otto cycle 
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163. For same maximum and minimum temperatures, the Rankine cycle has: 

 (A) more efficiency than that of the Carnot cycle 

 (B) equal efficiency to that of the Carnot cycle 

 (C) lower specific work output than that of the Carnot cycle 

 (D) higher specific work output than that of the Carnot cycle 

164. If dry saturated steam is admitted to a steam turbine following an isentropic process, at the 

exit of the turbine, it will be a: 

 (A) Superheated steam (B) Dry saturated steam 

 (C) Liquid condensate (D) Wet steam 

165. Mechanical efficiency of a certain engine is 75% and it develops a brake power of 40 kW. 

What will be the new mechanical efficiency at half load if friction power is assumed to be 

constant? 

 (A) 65% (B) 40% 

 (C) 60% (D) 58% 

166. Which one of the following is NOT a necessary assumption for the air-standard Otto cycle ? 

 (A) All processes are both internally as well as externally reversible. 

 (B) Intake and exhaust processes are constant volume heat rejection processes. 

 (C) The combustion process is a constant volume heat addition process. 

 (D) The working fluid is an ideal gas with constant specific heats. 

167. The compression ratio for petrol engines is 

 (A) 3 to 6 (B) 5 to 8 

 (C) 15 to 20 (D) 20 to 30 

168. The Otto cycle is an air standard cycle of spark ignition engine. The sequence of first four 

processes of the engine is 

 (A) Intake, Expansion, Combustion, Compression 

 (B) Intake, Combustion, Compression, Expansion 

 (C) Intake, Compression, Combustion, Expansion 

 (D) Intake, Combustion, Expansion, Compression 

169. An otto cycle has maximum temperature of heat addition at 1200 K and exhaust temperature 

of 600 K?  At beginning of compression, the pressure and temperature of air is 1 Bar and 

27°C. Find out the compression ratio of air. Assume γ for air is 1.4 

 (A) 3.65 (B) 5.65 

 (C) 4.66 (D) 8.65 

170. An air-standard diesel cycle consists of 

 (A) two adiabatic and two constant volume processes 

 (B) two constant volume and two isothermal processes 

 (C) one constant pressure, one constant volume and two adiabatic processes 

 (D) one constant pressure, one constant volume and two isothermal processes 

171. Air lock in fuel line will cause 

 (A) Engine idling high (B) Injector pressure is too high 

 (C) Late starting and erratic running (D) Excess delivery from FI pump 

172. Which of the following is the standard format for recording defects in a vehicle at a service 

station? 

 (A) Job card (B) Vehicle manual 

 (C) Log book (D) Maintenance manual 
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173. Which one of the following is suitable reason for engine overheat? 

 (A) Clogged radiator core (B) Low idle speed setting 

 (C) Excessive valve clearance (D) Too high viscosity of oil 

174. In engine, the customer reported as engine gets overheated, the mechanic should check for 

the problem is most likely caused by a 

 (A) excessive tappet clearance (B) defective pressure relief valve 

 (C) Worn out piston/liner/rings (D) loose fan belt 

175. The vapour compression refrigerator employs the following cycle 

 (A) Rankine (B) Carnot 

 (C) Reversed Rankine (D) Reversed Carnot 

176. Vertical lines on pressure-enthalpy chart show constant 

 (A) Pressure lines (B) Temperature lines 

 (C) Total heat lines (D) Entropy lines 

177. The undesirable property of a refrigerant is 

 (A) Low freezing point (B) Low viscosity 

 (C) High miscibility with lubricating oil (D) Low latent heat of evaporation 

178. When the air is passed through an insulated chamber having sprays of water maintained at 

a temperature higher than the dew point temperature of entering air but lower than its dry 

bulb temperature, then the air is said to be 

 (A) Cooled and humidified (B) Cooled and dehumidified 

 (C) Heated and humidified (D) Heated and dehumidified 

179. A condenser of refrigeration system rejects heat at the rate of 120 kW, while its compressor 

consumes a power of 30 kW. The coefficient of performance of the system will be 

 (A) 1/4 (B) 1/3 

 (C) 3 (D) 4 

180. In a saturated air-water vapour mixture, the 

 (A) Dry bulb temperature is higher than wet bulb temperature 

 (B) Dew point temperature is lower than wet bulb temperature 

 (C) Dry bulb, wet bulb and dew point temperature are same 

 (D) Dry bulb temperature is higher than dew point temperature 

181. The atmospheric air at DBT is 20°C. It enters a heating coil which is maintained at 50°C. If 

the air leaves the heating coil at 35°C, then what will be the efficiency of the coil? 

 (A) 0.6 (B) 0.22 

 (C) 0.35 (D) 0.5 

182. A room contains 35 kg of dry air and 0.5 kg of water vapour. The total pressure and 

temperature of air in the room are 100 Kpa and 25°C respectively. Given that the saturation 

pressure for water at 25°C is 3.17 kPa, the relative humidity of the air in the room is: 

 (A) 67% (B) 55% 

 (C) 83% (D) 71% 

183. Which of the following refrigerants have highest critical temperature? 

 (A) CO2 (B) SO2 

 (C) H2O (D) NH3 

184. The bypass factor, in case of sensible cooling of air, is given by (where td₁ = Dry bulb 

temperature of air entering the cooling coil, td₂ = Dry bulb temperature of air leaving the 

cooling coil, and td₃ = Dry bulb temperature of the cooling coil) 

 (A) (td₁ -td₃)/( td₂ -td₃) (B) (td₂ -td₃)/( td₁ -td₃) 

 (C) (td₃ -td₁)/( td₂ -td₃) (D) (td₃ -td₂)/( td₁ -td₃) 
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185. If the value of Poisson's ratio is zero, then it means that 

 (A) the material is rigid 

 (B) the material is perfectly plastic 

 (C) there is no longitudinal strain in the material 

 (D) the longitudinal strain in the material is infinite 

186. When a bar of length I and diameter d is rigidly fixed at the upper end and hanging freely, 

then the total elongation produced in the bar due to its own weight is where w = weight per 

unit volume of the bar. 

 (A) 
𝒘𝒍

𝟐𝑬
 (B) 

𝒘𝒍𝟐

𝟐𝑬
 

 (C) 
𝒘𝒍𝟑

𝟐𝑬
 (D) 

𝒘𝒍𝟒

𝟐𝑬
 

187. A steel rod of length L and diameter D, fixed at both ends is uniformly heated to a 

temperature rise of T.  The Young's modulus is E and the coefficient of linear expansion is α. 

The thermal stress in the rod is ____ 

 (A) α T (B) α T E 

 (C) α T E L (D) 0 

188. Which of the following is the correct relationship between the Young's modulus(E) and Bulk 

modulus(K) of a material? 

 (Here: μ = Poisson's ratio) (Symbols and notations carry their usual meaning) 

 (A) E = 3K(1 - 2μ) (B) K = 4E(1 - 2μ) 

 (C) K = 3E(1 - 2μ) (D) E = 2K(1 - 2μ) 

189. A steel bar of 5 mm is heated from 12°C to 50°C and it is free to expand. The bar will induce 

 (A) no stress (B) shear stress 

 (C) tensile stress (D) compressive stress 

190. Two tapering bars of the same material are subjected to a tensile load P. The lengths of both 

the bars are the same. The larger diameter of each of the bars is D. The diameter of bar A at 

its smaller end is 
2

D
 and that of the bar B is 

3

D
. What is the ratio of elongation of the bar A 

to that of the bar B? 

 (A) 3 : 2 (B) 2 : 3 

 (C) 4 : 9 (D) 1 : 3 

191. The value of stress up to which a specified permanent set in percentage of strain remains on 

unloading when the specimen is unloaded is known as: 

 (A) Ultimate stress (B) Proof stress 

 (C) Concentration stress (D) Breaking stress 

192. The beam having a hinge support at one end and a roller support at other end and that hinge 

support can have two reaction components, vertical and horizontal is known as: 

 (A) Double overhanging beams (B) Cantilever beams 

 (C) Overhanging beams (D) Simply supported beams 

193. The bending moment of a cantilever beam of length l and carrying a gradually varying load 

from zero at free end and w per unit length towards the fixed end is _______ at the fixed end. 

 (A)  
𝒘𝒍

𝟐
 (B)  

𝒘𝒍𝟐

𝟐
 

 (C)  
𝒘𝒍𝟐

𝟔
 (D)  

𝒘𝒍𝟑

𝟐
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194. In Double Integration method, First integration gives the value of ____ 

 (A) deflection (B) slope 

 (C) twisting angle (D) diameter 

195. A cantilever beam of length l is subjected to a moment M at the free end. The moment of 

inertia of the beam cross-section about the neutral axis is I and the Young modulus is E. The 

magnitude of the maximum deflection is. 

 (A)  
𝑴𝒍𝟐

𝟐𝑬𝑰
 (B)  

𝑴𝒍𝟐

𝑬𝑰
 

 (C)  
𝟐𝑴𝒍𝟐

𝑬𝑰
 (D)  

𝟒𝑴𝒍𝟐

𝟐𝑬𝑰
 

196. Maxwell's reciprocal theorem is based on - 

 i.    Principle of conservation of energy 

 ii.   Principle of conservation of mass 

 iii.  Principle of superposition 

 (A) (i), (ii) & (iii) (B) (i) & (iii) 

 (C) (i) only (D) (i) & (ii) 

197. The power transmitted by a 80 mm diameter shaft at 150 rpm at a maximum shear stress of 

60 N/mm2 is : 

 (A) 35.65 kW (B) 54.65 kW 

 (C) 74.65 kW (D) 94.65 Kw 

198. Maximum shear stress developed on the surface of a solid circular shaft under pure torsion 

is 240 MPa. If the shaft diameter is doubled, what is the maximum shear stress developed for 

the same torque 

 (A) 30 MPa (B) 60 MPa 

 (C) 20 MPa (D) 15 MPa 

199. Which theory is applicable for analysis of thick cylinder? 

 (A) Poisson’s theory (B) Lame’s theory 

 (C) Maxwell's theory (D) None of these 

200. A thick cylinder with 10 mm internal diameter and 20 mm external diameter, is subjected to 

an internal fluid pressure of 60 MPa. The hoop stress at the inner surface is 

 (A) 140 MPa (B) – 60 MPa 

 (C) 100 MPa (D) 40 MPa 

201. If a thick cylindrical shell is subjected to internal pressure, then hoop stress, radial stress and 

longitudinal stress at point in the thickness will be: 

 (A) Tensile, compressive, and compressive respectively 

 (B) All compressive 

 (C) All Tensile 

 (D) Tensile, compressive and tensile respectively 

202. The buckling load for a given material depends upon: 

 (A) Slenderness ratio and modulus of elasticity 

 (B) Poisson's ratio and modulus of elasticity 

 (C) Poisson's ratio and slenderness ratio 

 (D) Slenderness ratio and cross sectional area 
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203. A circular rod of length ‘L’ and area of cross-section ‘A’ has a modulus of elasticity ‘E’ and 

coefficient of thermal expansion ‘α’. One end of the rod is fixed and other end is free. If the 

temperature of the rod is increased by ΔT, then 

 (A) Stress developed in the rod is EαΔT and strain developed is αΔT 

 (B) Both stress and strain developed are zero 

 (C) Stress developed in the rod is zero and strain developed is αΔT 

 (D) Stress developed in the rod is EαΔT and strain developed is zero 

204. According to the principle of transmissibility of forces, the effect of force on a body is 

 (A) same at every point in its line of action 

 (B) different at different points in its line of action 

 (C) minimum when it acts at the centre of gravity of the body 

 (D) maximum when it acts at the centre of gravity of the body 

205. A framed structure is said to be perfect if the following correlation exits between the number 

of joints j and the number of members m 

 (A) m = 2 j – 3 (B) m = 3 j - 3 

 (C) m = 2 j – 1 (D) m = j – 2 

206. Which of the following is the correct Lami's equation? 

    

 (A) 
𝑷

𝐬𝐢𝐧 𝛉 
 = 

𝑸

𝐬𝐢𝐧 𝛂
 = 

𝑹

 𝐬𝐢𝐧𝛃
 (B) 

𝑷

𝐜𝐨𝐬 𝛉 
 = 

𝑸

𝐜𝐨𝐬 𝛂
 = 

𝑹

 𝐜𝐨𝐬 𝛃
 

 (C) 
𝑷

𝐬𝐢𝐧 𝛂 
 = 

𝑸

𝐬𝐢𝐧 𝛃
 = 

𝑹

𝐬𝐢𝐧𝛉
 (D) 

𝑷

𝐜𝐨𝐬 𝛂 
 = 

𝑸

𝐜𝐨𝐬 𝛃
 = 

𝑹

 𝐜𝐨𝐬𝛉
 

207. A block R of mass 100 kg is placed on a block S of mass 150 kg as shown in the figure. Block 

R is tied to the wall by a massless and inextensible string PQ. If the coefficient of static friction 

for all surfaces is 0.4, the minimum force F (in kN) needed to move the block S is 

    

 (A) 0.69 (B) 0.88 

 (C) 0.98 (D) 1.37 

208. Two steel trusses, XY and YZ of identical size support a load of 200 N as shown in fig. The 

length of the truss is 1 m. The force in the truss XY in Newton is 

    

 (A) 100 N (B) 200 N 

 (C) 150 N (D) 50 N 
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209. To take the longest possible jump, an athlete should make an angle of __ 

 (A) 90 degree with the ground (B) 60 degree with the ground 

 (C) 45 degree with the ground (D) 30 degree with the ground 

210. The kinetic energy of a body is stated to increase by 300 percent. The corresponding increase 

in the momentum of the body will be ____% 

 (A) 50 (B) 100 

 (C) 200 (D) 300 

211. A thin rod of length L and mass M will have what moment of inertia about an axis passing 

through one of its edges and perpendicular to rod? 

 (A) ML2/12 (B) ML2/16 

 (C) ML2/3 (D) ML2/9 

212. During elastic and inelastic collision, _______ is conserved. 

 (A) kinetic energy (B) velocity 

 (C) viscosity (D) momentum 

213. Two inelastic spheres of masses 10 kg each move with velocities of 15 m/s and 5 m/s 

respectively in the same direction. The loss in kinetic energy when they collide is 

 (A) 500 Nm (B) 0 Nm 

 (C) 250 Nm (D) 1000 Nm 

214. Two mating spur gears have 70 and 30 teeth. Their common module is 5 mm. The centre to 

centre distance between the gear axis is _______ 

 (A) 150 mm (B) 250 mm 

 (C) 300 mm (D) 500 mm 

215. A pair of involute spur gears with 16° pressure angle and pitch in module 6 mm is in mesh. 

The number of teeth on pinion is 16 and its rotational speed is 240 rpm. When the gear ratio 

is 1.75, the addenda on pinion and gear wheel when the interference is just avoided will be 

_______ 

 (A) 5.46 mm (B) 4.9 mm 

 (C) 4.56 mm (D) None of the above 

216. Which of the following is NOT a basis for classification of cams? 

 (A) Manner constraint of the follower (B) Follower movement in cam 

 (C) Weight of cam (D) Shape of cam 

217. Klein’s construction is mainly used to: 

 (A) determine the linear velocity of piston 

 (B) determine the linear acceleration of piston 

 (C) determine the linear displacement of piston 

 (D) none of the above 

218. An unbalanced couple of magnitude 300 N-m is noticed on a shaft of length 200 cm. The 

dynamic reactions at the bearings are 

 (A) 300 N and -300 N (B) 300 N and 300 N 

 (C) 150 N and 150 N (D) 150 N and -150 N 

219. Find the efficiency of a pulley system which has a mechanical advantage of 2.5 and where the 

load lifts by  2.5 meters on pulling the rope by 10 m. 

 (A) 62.50% (B) 25.00% 

 (C) 40.00% (D) 100.00% 

220. For a Watt governor, 15 cm height corresponds to angular speed of 

 (A) 9.2 rad/sec (B) 8.1 rad/sec 

 (C) 6.5 rad/sec (D) 7.0 rad/sec 
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221. Which of the following governors is/are not suitable for high speeds? 

 (A) Watt governor (B) Hartnell governor 

 (C) Hartung governor (D) Wilson-Hartnell governor 

222. The manometric efficiency of a centrifugal pump is defined as the ratio of: 

 (A) Manometric head to the head imparted by the impellor to the water 

 (B) Head imparted by the impellor to the water to the manometric head 

 (C) Suction head to the head imparted by the impellor to the water 

 (D) Head imparted by the impellor to water to the suction head 

223. For discharge Q, the specific speed of the pump is N. For double the discharge with same 

head, the specific speed will be: 

 (A)  
2

N
 (B)  2N  

 (C)  
2

N
 (D)  2N 

224. Property of material due to which they can be drawn into wires, is called 

 (A) Elasticity (B) Plasticity 

 (C) Stiffness (D) Ductility 

225. The ability of the material to resist penetration by another material, is called 

 (A) Stiffness (B) Ductility 

 (C) Hardness (D) Plasticity 

226. Stress concentration occurs when a body is subjected to 

 (A) Extensive stress (B) Non-uniform stress 

 (C) Reverse stress (D) Fluctuating stress 

227. A metal which is ductile in tension can become brittle 

 (A) in the presence of notches 

 (B) under hydrostatic compression 

 (C) in the presence of embrittlement agents such as hydrogen 

 (D) all of these 

228. Silicon steel is widely used in 

 (A) Cutting tools (B) Connecting rods 

 (C) Electric industry (D) Chemical industry 

229. If the surface crack causing fracture in a brittle material is made twice as deep, the fracture 

strength will 

 (A) decrease by a factor of 2  (B) decrease by a factor of 2 

 (C) decrease by a factor of (D) No change 

230. Fracture toughness KIC, decreases with 

 (A) increasing temperature (B) increasing strain rate 

 (C) increase in yield strength (D) increase in grain size 

231. Which test is to be conducted in the laboratory for the determination of shear strength 

parameters 'C' and 'ϕ' of soil? 

 (A) Tri-axial compression test (B) Atterbarg limit test 

 (C) Proctor compaction test (D) Relative density test 

232. Which of the following stresses does not have any influence on strength of a material? 

 (A) Major principal stress (B) Minor principal stress 

 (C) Intermediate principal stress (D) Shearing stress 
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233. The Non-Destructive Inspection technique employed during inspection of castings of tubes 

and pipes to check the overall strength of a casting in resistance to bursting under hydraulic 

pressure is 

 (A) Radiographic inspection (B) Magnetic particle inspection 

 (C) Fluorescent penetrant (D) Pressure testing 

234. Which of the following is associated with basic metal forming process 

 (A) Double edged cutting (B) Welding 

 (C) Sintering (D) Compacting 

235. Which of the following is not associated with the motion of job in cutting operation? 

 (A) Rotary (B) Vibratory 

 (C) Translator (D) Fixed 

236. The cutting edges of a twist drill are known as 

 (A) Flanks (B) Wedges 

 (C) Flutes (D) Lips 

237. Experimental determination of chip tool interface temperature is not possible by 

 (A) Method of compound tool (B) Method of moving thermocouple 

 (C) Photographic method (D) Radio-active method 

238. Which of the following processes are included in finishing? 

 (A) Honig and welding (B) Polishing and lapping 

 (C) Coating and milling (D) Moulding and plating 

239. The process of increasing the cross-sectional area of the stock at the expense of its length by 

the application of force in the direction of its length is called _______. 

 (A) fullering (B) upsetting 

 (C) drawing down (D) swaging 

240. Collapsible tooth paste tubes are manufactured by 

 (A) Direct extrusion (B) Piercing 

 (C) Impact extrusion (D) Indirect extrusion 

241. A metal disc of 20 mm diameter is to be punched from a sheet of 2 mm thickness. The punch 

and die clearance is 3%. The required punch diameter is 

 (A) 19.88 mm (B) 19.94 mm 

 (C) 20.06 mm (D) 20.12 mm 

242. Spinning is carried out on 

 (A) Hydraulic press (B) Mechanical press 

 (C) Lathe (D) Milling machine 

243. Match the pairs: 

            Processes Characteristics/Applications 

 P.  Friction welding 1.  non-consumable electrode 

 Q.  Gas metal arc welding 2.  Joining of thick plates 

 R.  Tungsten inert gas welding 3.  Consumable electrode wire 

 S.  Electroslag welding 4.  Joining of cylindrical dissimilar materials 

 (A) P - 4,  Q - 3,  R - 1,  S - 2 (B) P - 4,  Q - 2,  R - 3,  S - 1 

 (C) P - 2,  Q - 3,  R - 4,  S - 1 (D) P - 2,  Q - 4,  R - 1,  S - 3 

244. In electro discharge machining, the tool is made of 

 (A) Plain carbon steel (B) Copper 

 (C) Cast iron (D) High speed steel 
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245. In abrasive jet machining, as the distance between the nozzle tip and work surface increases, 

the material removal rate _______ 

 (A) Increases continuously 

 (B) Decreases continuously 

 (C) Decreases, becomes stable and then increases 

 (D) Increases, becomes stable and then decreases 

246. Normalisation of steel is done 

 (A) To refine the grain structure 

 (B) Remove strain caused by cold working 

 (C) Remove dislocations caused by hot working 

 (D) All of the above 

247. _______ is the surface hardening process that gives maximum hardness to the surface. 

 (A) Pack hardening (B) Nitriding 

 (C) Cyaniding (D) Induction hardening 

248. What is the major problem in hot extrusion? 

 (A) Design of punch (B) Design of die 

 (C) Wear and tear of die (D) Wear of punch 

249. Two slip gauges of 10 mm width measuring 1.000 mm and 1.002 mm are kept side by side in 

contact with each other lengthwise. An optical flat is kept resting on the slip gauges as shown 

in the figure. Mono-chromatic light of wavelength 0.0058928 mm used in the inspection. The 

total number of straight fringes that can be observed on both slip gauges is 

    

 (A) 2 (B) 6 

 (C) 8 (D) 13 

250. The dimensional limits on a shaft of 25h7 are 

 (A) 25.000, 25.021 mm (B) 25.000, 24.979 mm 

 (C) 25.000, 25.007 mm (D) 25.000, 24.993 mm 

251. Essential condition for an interference fit is that the lower limit of the shaft should be 

 (A) Lesser than upper limit of the hole (B) Greater than the lower limit of the hole 

 (C) Lesser than the lower limit of the hole (D) Greater than the upper limit of the hole 

252. What is the purpose of using autocollimator? 

 (A) To measure small angular differences. (B) To measure flatness. 

 (C) To measure concavity. (D) To check surface linearity. 

253. Expressing a dimension as 25.3±0.05 mm is the case of 

 (A) Unilateral tolerance (B) Bilateral tolerance 

 (C) Limiting dimensions (D) All of the above 

254. Which of the following is the most precise device for measuring length: 

 (A) a vernier caliper with 20 divisions on the sliding scale 

 (B) a screw gauge of pitch 1 mm and 100 divisions on the circular scale 

 (C) an optical instrument that can measure length to within a wavelength of light. 

 (D) All of the above 
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255. Which of the following represents a form tolerance? 

 (A) Flatness (B) Parallelism 

 (C) Concentricity (D) Total run out 

256. Wear allowance is provided on 

 (A) Go gauge (B) No go gauge 

 (C) Both go and no go gauge (D) When both are combined in one gauge 

257. The maximum interference in mm after assembly between a bush of size 𝟑𝟎+𝟎.𝟎𝟑
+𝟎.𝟎𝟔 mm and 

shaft of size 𝟑𝟎−𝟎.𝟎𝟐
+𝟎.𝟎𝟒 mm is 

 (A) 0.07 (B) 0.05 

 (C) 0.02 (D) 0.01 

258. What does N, P and L mean in N.P.L. gauge interferometer? 

 (A) Nikon Pulse Laser (B) Nuclear Plasma Laboratory 

 (C) National Physics Laboratory (D) Nuclear Physics Laboratory 

259. If load on the ball bearing is reduced to half, its life will increase to 

 (A) 8 times (B) 16 times 

 (C) 32 times (D) 64 times 

260. In spur gears, the circle on which the involute is generated is called: 

 (A) base circle (B) clearance angle 

 (C) pitch circle (D) addendum circle 

261. In replacing a V-belts, a complete set of new belts is used instead of replacing a single 

damaged belt because. 

 (A) Belts are available in sets 

 (B) Only one belt is fitted with other used belts 

 (C) The new belt will carry more than its share and result in short life 

 (D) New and old belts will cause vibrations 

262. The product of circular pitch and diametral pitch is equal to 

 (A) 1 (B) 1.57 

 (C) π (D) Infinite 

263. Stress concentration factor for a machine component is dependent 

 (A) only on the geometry of the component 

 (B) only on the material of the component 

 (C) on geometry as well as material of the component 

 (D) on factors other than geometry and material of the component 

264. In flange coupling, the flanges are coupled together by means of 

 (A) Bolts and nuts (B) Studs 

 (C) Headless taper bolts (D) None of these 

265. In a multiple V belt drive, when a single belt is damaged, it is preferable to change the 

complete set to _____. 

 (A) Reduce vibration (B) Reduce slip 

 (C) Ensure uniform loading (D) Ensure proper alignment 

266. The function of a washer is to 

 (A) Provide cushioning effect 

 (B) Provide bearing area 

 (C) Absorb shocks and vibrations 

 (D) Provide sooth surface in place of rough surface 
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267. Transverse fillet welded joints are designed for 

 (A) Tensile strength (B) Compressive strength 

 (C) Shear strength (D) Bending strength 

268. Aircraft body is usually fabricated by 

 (A) Welding (B) Pre-casting 

 (C) Riveting (D) Casting 

269. The sleeve of Muff coupling is designed as a 

 (A) Thin cylinder (B) Thick cylinder 

 (C) Solid shaft (D) Hollow shaft 

270. Surface endurance limit of gear material is dependent upon its 

 (A) Elastic strength (B) Yield strength 

 (C) Brinell hardness number (D) Toughness 

271. According to Indian standard specifications, 100 H6/g5 means that the 

 (A) Tolerance grade for the hole is 6 and for the shaft is 5 

 (B) Tolerance grade for the shaft is 6 and for the hole is 5 

 (C) Tolerance grade for the shaft is 4 to 8 and for the hole is 3 to 7 

 (D) Tolerance grade for the hole is 4 to 8 and for the shaft is 3 to 7 

272. If the load on a ball bearing is reduced to one third, then its life would increase by 

 (A) 3 times (B) 27 times 

 (C) 9 times (D) 81 times 

273. The contact ratio for gears is 

 (A) Zero (B) Less than one 

 (C) Greater than or equal to one (D) None of these 

274. When bevel gears having equal teeth connect two shafts whose axes are mutually 

perpendicular, then the bevel gears are known as 

 (A) Skew bevel gears (B) Spiral gears 

 (C) Miter gears (D) Zero bevel gears 

275. In a 2D CAD package, clockwise circular arc of radius 5 units, specified from points A (15, 

10) to B (10, 15) has its centre at: 

 (A) (10, 10) (B) (15,10) 

 (C) (15, 15) (D) (10, 15) 

276. MO6 represents the following instruction in CNC programing 

 (A) Program stop (B) Tool change 

 (C) Coolant on (D) Spindle on 

277. Consider the following 8086 assembly language program: 

 MOV AX, BB11H 

 MOV CX, 1122H 

 ADD AX, CX 

 HLT 

 The result of this program is: 

 (A) CX = CC33H (B) AX = CC33H 

 (C) CX = BB11H (D) AX = BB11H 

278. NC contouring is an example of 

 (A) Continuous path positioning (B) Point-to-point positioning 

 (C) Absolute positioning (D) Incremental positioning 
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279. In an intrinsic semiconductor, the Fermi level 

 (A) Lies at the center of forbidden energy gap 

 (B) Is near the conduction band 

 (C) Is near the valence band 

 (D) May be anywhere in the forbidden energy gap 

280. The forbidden energy gap for germanium is 

 (A) 0.12 eV (B) 0.72 eV 

 (C) 1.11 eV (D) 1.52 eV 

281. The pair of donor impurities for semiconductor material is: 

 (A) Gallium and Helium (B) Gallium and Indium 

 (C) Arsenic and Antimony (D) Arsenic and Argon 

282. The ripple voltage of a full-wave rectifier with a 100 μF filter capacitor connected to a load 

drawing 50 mA is: 

 (A) 2.4 kV (B) 4.8 kV 

 (C) 1.2 kV (D) 6.6 kV 

283. If the input AC voltage is 10 Vrms, find the maximum voltage across the diode of a half wave 

rectifier with capacitor input filter 

 (A) 14.1 V (B) 20 V 

 (C) 10 V (D) 7.07 V 

284. A device whose characteristics are very close to that of an ideal voltage source is a 

 (A) SCR (B) FET 

 (C) MOSFET (D) Zener diode 

285. What is the current through the Zener diode? 

    

 (A) 0 mA (B) 7 mA 

 (C) 8.3 mA (D) 13 mA 

286. To amplify voltage, current and power signals using BJT amplifiers, which of the following 

configurations are used? 

 (A) common collector, common base and common emitter 

 (B) common base, common emitter and common collector 

 (C) common emitter, common collector and common base 

 (D) common base, common collector and common emitter 

287. The number of depletion layers in a transistor is _______. 

 (A) Two (B) Three 

 (C) Four (D) Five 

288. Under low level injection assumption, the injected minority carrier current for an extrinsic 

semiconductor is essentially the 

 (A) Diffusion current (B) Drift current 

 (C) Recombination current (D) Induced current 

  

CNF
Highlight

CNF
Highlight

CNF
Highlight

CNF
Highlight

CNF
Highlight

CNF
Highlight

CNF
Highlight

CNF
Highlight

CNF
Highlight

CNF
Highlight



 

BEX – MASTER ] 19 [ Contd… 
 

289. The time by which the activity completion time can be delayed without affecting the start of 

succeeding activities is known as 

 (A) Duration (B) Total float 

 (C) Free float (D) Interfering float 

290. The Operations research technique which helps in minimizing total waiting and service costs 

is 

 (A) Queuing Theory (B) Decision Theory 

 (C) Game Theory (D) Network Theory 

291. Pessimistic time and optimistic time of completion of an activity are given as 10 days and 4 

days respectively, the variance of the activity will be 

 (A) 1 (B) 6 

 (C) 12 (D) 18 

292. In PERT the activity distribution is 

 (A) Binomial (B) Normal 

 (C) Poisson (D) Beta 

293. In a transportation problem with 4 supply points and 5 demand points, how many number 

of constraints are required in its formulation? 

 (A) 20 (B) 1 

 (C) 0 (D) 9 

294. Vogel’s approximation method is connected with 

 (A) Assignment problem (B) Inventory problem 

 (C) Transportation problem (D) PERT 

295. Activities A, B, and C are the immediate predecessors for Y activity. If the earliest finishing 

time for the three activities are 12, 15, and 10, then what will be the earliest starting time for 

Y? 

 (A) 10 (B) 15 

 (C) 12 (D) 18.5 

296. A dummy activity is used in PERT network to describe 

 (A) Precedence relationship (B) Necessary time delay 

 (C) Resource restriction (D) Resource idleness 

297. Usually, stronger constituent of a composite is: 

 (A) Matrix (B) Reinforcement 

 (C) Both are of equal strength (D) Fillers 

298. Electron beam machining is a process which can be categories as: 

 (A) Thermal energy based process (B) Mechanical energy based process 

 (C) Chemical energy based process (D) Electro-chemical process 

299. In Lead Acid Batteries, the Electrolyte used is 

 (A) Sulphuric Acid (B) Hydrochloric acid 

 (C) Nitric acid (D) Acetic acid 

300. What does PHEV stands for? 

 (A) Plug-in Hybrid Electronic Vehicles (B) Plug-in Hybrid Electric Vehicles 

 (C) Plug-out Hybrid Electronic Vehicles (D) Plug-out Hybrid Electric Vehicles 
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